# Laguerre-based Hermite-Bernoulli polynomials associated with bilateral series

Waseem Ahmad Khan<sup>1</sup>, Serkan Araci<sup>2</sup>, Mehmet Acikgoz<sup>3</sup> and Ayhan Esi<sup>4</sup>

E-mail: waseem08\_khan@rediffmail.coma1, mtsrkn@hotmail.com2, acikgoz@gantep.edu.tr3,  $aesi23@hotmail.com^4$ 

#### Abstract

In the paper, we define Laguerre-based Hermite-Bernoulli polynomial with its generating function, and investigate certain properties. From this generating function, we derive summation formulas and related bilateral series associated with the newly introduced generating function. Some of whose special cases are also presented. Relevant connections of some results presented here with those involving simpler known partly unilateral and partly bilateral representations are also obtained.

2010 Mathematics Subject Classification. 11B68. 33C05

Keywords. Hermite polynomials; Laguerre polynomials; Bernoulli polynomials; Laguerre based Hermite-Bernoulli polynomials; Summation formulae; Bilateral series.

#### Introduction

Throughout of the paper we will make use of the following notations:  $\mathbb{N} := \{1, 2, 3, \cdots\}, \mathbb{N}_0 = \{1, 2, 3, \cdots\}$  $\mathbb{N} \cup \{0\}$  and  $\mathbb{Z}^- := \{-1, -2, -3, \cdots\} = \mathbb{Z}^- \setminus \{0\}$ . Here, as usual,  $\mathbb{Z}$  denotes the set of integers,  $\mathbb{R}$  denotes the set of real numbers and  $\mathbb{C}$  denotes the set of complex numbers. Let  $\exp(z)$  be exponential function given by  $\exp(z) := e^z \ (z \in \mathbb{C}; |z| < 1)$ .

Let  $L_n(x)$  be classical Laguerre polynomials defined by means of the following generating function:

$$\sum_{n=0}^{\infty} L_n(x)t^n = \frac{1}{1-t} \exp\left(-\frac{xt}{1-t}\right) \qquad (|t| < 1).$$
 (1.1)

Based on Eq. (1.1), two variables Laguerre polynomials (2VLP)  $L_n(x,y)$  are considered as

$$L_n(x,y) := y^n L_n(\frac{x}{y}) \text{ and } L_n(x,1) := L_n(x)$$
 (1.2)

representing 2VLP is the same with classical Laguerre polynomials. So, by Eq. (1.2), one can see

$$\sum_{n=0}^{\infty} L_n(x,y) \frac{t^n}{n!} = \exp(yt) J_0(2\sqrt{xt})$$
 (1.3)

<sup>&</sup>lt;sup>1</sup>Department of Mathematics, Integral University, Lucknow, India.

<sup>&</sup>lt;sup>2</sup>Department of Economics, Faculty of Economics, Administrative and Social Sciences, Hasan Kalyoncu University, TR-27410 Gaziantep, Turkey.

<sup>&</sup>lt;sup>3</sup>Department of Mathematics, Faculty of Science and Arts, University of Gaziantep, TR-27310 Gaziantep, Turkey.

<sup>&</sup>lt;sup>4</sup>Department of Mathematics, Science and Art Faculty, Adiyaman University, TR-02040 Adiyaman, Turkey.

where  $J_0(x)$  denotes the  $0^{th}$  order Bessel function, and  $n^{th}$  order Bessel function  $J_n(x)$  are given by the series (see [4],[17],[18]):

$$x^{\frac{n}{2}}J_n\left(2\sqrt{x}\right) = \sum_{n=0}^{\infty} \frac{(-1)^r x^r}{r!(n+r)!} \quad (n \in \mathbb{N}_0).$$
 (1.4)

The 2-variable Hermite Kampé de Fériet polynomials (2VHKdFP)  $H_n(x,y)$  are known in [2, 4] as

$$\frac{H_n(x,y)}{n!} = \sum_{r=0}^{\left[\frac{n}{2}\right]} \frac{y^r x^{n-2r}}{r!(n-2r)!} \text{ and } \sum_{n=0}^{\infty} H_n(x,y) \frac{t^n}{n!} = e^{xt+yt^2}.$$
 (1.5)

It is easy to see that  $H_n(2x, -1) = H_n(x)$  that stands for classical Hermite polynomials, cf. [2].

In [17, 18], the generating function of the 3-variable Laguerre-Hermite polynomials (3VLHP)  $_LH_n(x,y,z)$  is given by

$$\sum_{n=0}^{\infty} {}_{L}H_{n}(x,y,z) \frac{t^{n}}{n!} = \exp(yt + zt^{2}) J_{0}(2\sqrt{xt}). \tag{1.6}$$

The generalized Bernoulli  $B_n^{(\alpha)}(x)$ , Euler  $E_n^{(\alpha)}(x)$  and Genocchi  $G_n^{(\alpha)}(x)$  polynomials are also defined by means of the following generating functions

$$\left(\frac{t}{e^t - 1}\right)^{\alpha} e^{xt} = \sum_{n=0}^{\infty} B_n^{(\alpha)}(x) \frac{t^n}{n!} \quad (|t| < 2\pi; 1^{\alpha} := 1), \quad \left(\frac{2}{e^t + 1}\right)^{\alpha} e^{xt} = \sum_{n=0}^{\infty} E_n^{(\alpha)}(x) \frac{t^n}{n!} \quad (|t| < \pi; 1^{\alpha} := 1)$$
(1.7)

and

$$\left(\frac{2t}{e^t + 1}\right)^{\alpha} e^{xt} = \sum_{n=0}^{\infty} G_n^{(\alpha)}(x) \frac{t^n}{n!} \qquad (|t| < \pi; 1^{\alpha} := 1).$$
 (1.8)

Obviously that

$$B_n^{(1)}(x) = B_n(x), \ E_n^{(1)}(x) = E_n(x) \text{ and } G_n^{(1)}(x) = G_n(x)$$
 cf. [3, 6, 10, 11, 12, 14, 17, 18].

Recently, Kurt [9] has introduced and investigated the generalized Bernoulli polynomials  $B_n^{[\alpha,m-1]}(x)$  ( $m \in \mathbb{N}$ ) defined in a suitable neighborhood of t=0 by means of the following generating function:

$$\sum_{n=0}^{\infty} B_n^{[\alpha, m-1]}(x) \frac{t^n}{n!} = \left( \frac{t^m}{e^t - \sum_{h=0}^{m-1} \frac{t^h}{h!}} \right)^{\alpha} e^{xt}.$$
 (1.9)

It is clear that if we take  $\alpha = 1$  in (1.9), it reduces to known result of Natalini and Bernandini [10].

Let us now recall here an interesting (partly bilateral and partly unilateral) generating function for  $L_n^{(\alpha)}(x)$ , due to Exton in [5], in the following form (see Pathan and Yasmeen [13]; Srivastava *et al.* [16]):

$$\exp\left(y + z - \frac{xz}{y}\right) = \sum_{m = -\infty}^{\infty} \sum_{n = m^*}^{\infty} L_n^{(m)}(x) \frac{y^m z^n}{(m+n)!}$$
(1.10)

where  $m^* = \max\{0, -m\}$  with  $m \in \mathbb{Z}$ .

In this paper, we introduce a new class of generalized Laguerre-based Hermite-Bernoulli polynomials  $LHB_n^{[\alpha,m-1]}\left(x,y,z\right)$  and develop some elementary properties. We also derive the summation formulae for these generalized polynomials by using different analytical means on their respective generating functions and related bilateral series associated with the newly-introduced generating function. Some of whose special cases are also presented. Finally, relevant connections of some results presented here with those involving simpler known partly unilateral and partly bilateral representations are indicated.

### 2 A new class of Laguerre-based Hermite-Bernoulli polynomials

Let us now consider the following generating function of the generalized Laguerre-based Hermite-Bernoulli polynomials  $LHB_n^{[\alpha,m-1]}(x,y,z)$  given by

$$\sum_{n=0}^{\infty} LHB_n^{[\alpha,m-1]}(x,y,z) \frac{t^n}{n!} = \left(\frac{t^m}{e^t - \sum_{h=0}^{m-1} \frac{t^h}{h!}}\right)^{\alpha} J_0(2\sqrt{xt})e^{yt+zt^2}$$
(1.11)

defining in a suitable neighborhood of t = 0.

We readily see from (1.11) that

$$LHB_n^{[\alpha,m-1]}(x,y,z) = \sum_{k=0}^n \binom{n}{k} B_{n-k}^{[m-1]} {}_L H_k(x,y,z). \tag{1.12}$$

In the special cases, Eq. (1.11) contains not only generalized Bernoulli polynomials, but also generalization of Laguerre-Hermite polynomials.

**Remark 2.1.** Setting m = 1, z = 0 and y replaced by x in Eq.(1.11), it reduces to known result of Khan *et al.* [7].

**Remark 2.2.** Setting x = 0, y replaced by x, and z replaced by y in Eq.(1.11), it reduces to known result of Pathan and Khan [14].

**Remark 2.3.** For m = 1, x = 0, y replaced by x, z replaced by y in Eq.(1.11),one can see that

$$\sum_{n=0}^{\infty} {}_{H}B_{n}^{(\alpha)}(x,y)\frac{t^{n}}{n!} = \left(\frac{t}{e^{t}-1}\right)^{\alpha} e^{xt+yt^{2}}$$

$$\tag{1.13}$$

which is a generalization of the generating function of Dattoli et al. [4, Eq (1.6), p.386] in the form:

$$\sum_{n=0}^{\infty} {}_{H}B_{n}(x,y)\frac{t^{n}}{n!} = \left(\frac{t}{e^{t}-1}\right)e^{xt+yt^{2}}.$$
(1.14)

Let  $E_n^{(\alpha)}(x,y)$  be the generalized Hermite-Euler polynomials, and let  $G_n^{(\alpha)}(x,y)$  be the generalized Hermite-Genocchi polynomials defined by

$$\sum_{n=0}^{\infty} {}_{H}E_{n}^{(\alpha)}(x,y)\frac{t^{n}}{n!} = \left(\frac{2}{e^{t}+1}\right)^{\alpha} e^{xt+yt^{2}} \quad (|t| < \pi; 1^{\alpha} := 1)$$
 (1.15)

$$\sum_{n=0}^{\infty} {}_{H}G_{n}^{(\alpha)}(x,y) \frac{t^{n}}{n!} = \left(\frac{2t}{e^{t}+1}\right)^{\alpha} e^{xt+yt^{2}} \quad (|t| < \pi; 1^{\alpha} := 1). \tag{1.16}$$

In the case when y = 0 in (1.13), Eqs.(1.15) and (1.16) are generalizations of (1.7) and (1.8).

We now state the following theorem including the connection between Laguerre-Hermite polynomials  $_LH_n(x,y,z)$  and generalized Bernoulli numbers  $B_n^{[\alpha,m-1]}$ .

**Theorem 2.4.** For  $n \in \mathbb{N}_0$ , we have

$$_{L}H_{n}(x,y) = \frac{1}{n+1} \left( LHB_{n+1}^{[1,1]}(x,y+1,z) - LHB_{n+1}^{[1,1]}(x,y,z) \right). \tag{1.17}$$

*Proof.* Consider Eq.(1.11), we have

$$e^{yt+zt^{2}}C_{0}(xt) = \frac{e^{t}-1}{t} \left(\frac{t}{e^{t}-1}\right) e^{yt+zt^{2}} J_{0}(2\sqrt{xt})$$

$$= \frac{1}{t} \left(\left(\frac{t}{e^{t}-1}\right) e^{(y+1)t+zt^{2}} J_{0}(2\sqrt{xt}) - \left(\frac{t}{e^{t}-1}\right) e^{yt+zt^{2}} J_{0}(2\sqrt{xt})\right).$$

Then, by using the definition of Kampé de Fériet generalization of the Laguerre-Hermite polynomials  $_LH_n(x,y)$  and Laguerre-based Hermite-Bernoulli polynomials  $_LHB_n^{[\alpha,m-1]}(x,y,z)$ , we get

$$\sum_{n=0}^{\infty} {}_{L}H_{n}(x,y,z) \frac{t^{n}}{n!} = \sum_{n=0}^{\infty} \frac{1}{n+1} \left( LHB_{n+1}^{[1,1]}(x,y+1,z) - LHB_{n+1}^{[1,1]}(x,y,z) \right) \frac{t^{n}}{n!}.$$

Finally, comparing the coefficients of  $\frac{t^n}{n!}$ , we arrive at the desired identity given in (1.17). Q.E.D.

**Theorem 2.5.** For  $n \in \mathbb{N}_0$ , we have

$$LHB_{n}^{[\alpha+\beta,m-1]}(x,y+w,z) = \sum_{k=0}^{n} \binom{n}{k} B_{n-k}^{[\alpha,m-1]}(w) LHB_{k}^{[\beta,m-1]}(x,y,z). \tag{1.18}$$

*Proof.* By Definition (1.11), we have

$$\left(\frac{t^m}{e^t - \sum_{h=0}^{m-1} \frac{t^h}{h!}}\right)^{\alpha+\beta} \exp\left((y+w)t + zt^2\right) J_0(2\sqrt{xt}) = \sum_{n=0}^{\infty} LHB_n^{[\alpha+\beta,m-1]}(x,y+w,z) \frac{t^n}{n!} \\
= \left(\sum_{n=0}^{\infty} B_n^{[\alpha,m-1]}(w) \frac{t^n}{n!}\right) \left(\sum_{n=0}^{\infty} LHB_n^{[\beta,m-1]}(x,y,z) \frac{t^n}{n!}\right).$$

Now replacing n by n-k in the RHS of above equation, and comparing the coefficients of  $\frac{t^n}{n!}$ , we complete the proof.

**Theorem 2.6.** For  $n \in \mathbb{N}_0$ , we have

$$LHB_n^{[\alpha,m-1]}(x,y,z) = \sum_{k=0}^n \binom{n}{k} B_{n-k}^{[m-1]} LHB_k^{[\alpha-1,m-1]}(x,y,z). \tag{1.19}$$

*Proof.* Using (1.11), we can write

$$\sum_{n=0}^{\infty} LHB_{n}^{[\alpha,m-1]}(x,y,z) \frac{t^{n}}{n!} = \frac{t^{m}}{e^{t} - \sum_{h=0}^{m-1} \frac{t^{h}}{h!}} \left( \frac{t^{m}}{e^{t} - \sum_{h=0}^{m-1} \frac{t^{h}}{h!}} \right)^{\alpha-1} \exp(yt + zt^{2}) J_{0}(2\sqrt{xt})$$

$$= \left( \sum_{n=0}^{\infty} B_{n}^{[m-1]} \frac{t^{n}}{n!} \right) \left( \sum_{n=0}^{\infty} LHB_{n}^{[\alpha-1,m-1]}(x,y,z) \frac{t^{n}}{n!} \right).$$

On replacing n by n-k in the RHS of above equation and comparing the coefficients of  $\frac{t^n}{n!}$ , we arrive at the desired result (2.9).

Q.E.D.

# 3 Summation formulae for Laguerre-based Hermite-Bernoulli polynomials

We now give the interesting summation properties for  $LHB_n^{[\alpha,m-1]}(x,y,z)$  by using series manipulation methods. The obtained results here are corresponding generalization of some known special polynomial which we stated in this part.

**Theorem 3.1.** The following summation formula holds true:

$$LHB_{q+l}^{[\alpha,m-1]}(x,w,z) = \sum_{n,p=0}^{q,l} \binom{q}{n} \binom{l}{p} (w-y)^{n+p} LHB_{q+l-n-p}^{[\alpha,m-1]}(x,y,z)$$
(1.20)

in which we have used  $\sum_{n,p=0}^{q,l} = \sum_{n=0}^{q} \sum_{p=0}^{l}$ .

*Proof.* Replacing t by t + u in (1.11), and then using the formula [15, p. 52 (2)]

$$\sum_{N=0}^{\infty} f(N) \frac{(x+y)^N}{N!} = \sum_{n,m=0}^{\infty} f(n+m) \frac{x^n}{n!} \frac{y^m}{m!}$$
 (1.21)

we see that

$$\left(\frac{(t+u)^m}{e^{t+u} - \sum_{h=0}^{m-1} \frac{(t+u)^h}{h!}}\right)^{\alpha} e^{z(t+u)^2} J_0(2\sqrt{x(t+u)}) = e^{-y(t+u)} \sum_{q,l=0}^{\infty} LHB_{q+l}^{[\alpha,m-1]}(x,y,z) \frac{t^q}{q!} \frac{u^l}{l!}. \quad (1.22)$$

Replacing y by w in Eq. (1.22), we find

$$\exp((w-y)(t+u))\sum_{q,l=0}^{\infty} LHB_{q+l}^{[\alpha,m-1]}(x,y,z)\frac{t^q}{q!}\frac{u^l}{l!} = \sum_{q,l=0}^{\infty} LHB_{q+l}^{[\alpha,m-1]}(x,w,z)\frac{t^q}{q!}\frac{u^l}{l!}.$$
 (1.23)

Expanding exponential function in Eq.(1.23) gives

$$\sum_{N=0}^{\infty} \frac{[(w-y)(t+u)]^N}{N!} \sum_{q,l=0}^{\infty} LHB_{q+l}^{[\alpha,m-1]}(x,y,z) \frac{t^q}{q!} \frac{u^l}{l!} = \sum_{q,l=0}^{\infty} LHB_{q+l}^{[\alpha,m-1]}(x,w,z) \frac{t^q}{q!} \frac{u^l}{l!} \qquad (1.24)$$

which on using formula (1.21) in the first summation on the LHS becomes

$$\sum_{n,p=0}^{\infty} \frac{(w-y)^{n+p} t^n u^p}{n! p!} \sum_{q,l=0}^{\infty} LHB_{q+l}^{[\alpha,m-1]}(x,y,z) \frac{t^q}{q!} \frac{u^l}{l!} = \sum_{q,l=0}^{\infty} LHB_{q+l}^{[\alpha,m-1]}(x,w,z) \frac{t^q}{q!} \frac{u^l}{l!}.$$
 (1.25)

Now replacing q by q-n, l by l-p and using the lemma ([15, p.100 (1)])

$$\sum_{k=0}^{\infty} \sum_{n=0}^{\infty} A(n,k) = \sum_{k=0}^{\infty} \sum_{n=0}^{k} A(n,k-n)$$
 (1.26)

in the LHS of (1.25), we derive

$$\sum_{q,l=0}^{\infty} \sum_{n,p=0}^{q,l} \frac{(w-y)^{n+p}}{n!p!} LHB_{q+l-n-p}^{[\alpha,m-1]}(x,y,z) \frac{t^q}{(q-n)!} \frac{u^l}{(l-p)!}$$

$$= \sum_{q,l=0}^{\infty} LHB_{q+l}^{[\alpha,m-1]}(x,w,z) \frac{t^q}{q!} \frac{u^l}{l!}.$$
(1.27)

Finally, on equating the coefficients of the like powers of  $t^q$  and  $u^l$  in the above equation, we complete the proof.

Taking l = 0 in assertion (1.20), we have the following corollary.

#### Corollary 3.2.

$$LHB_{q}^{[\alpha,m-1]}(x,w,z) = \sum_{n=0}^{q} {q \choose n} (w-y)^{n} LHB_{q-n}^{[\alpha,m-1]}(x,y,z).$$
 (1.28)

The following theorem is the product of two Laguerre-based Hermite-Bernoulli polynomials.

**Theorem 3.3.** For  $n \in \mathbb{N}_0$  and  $s \in \mathbb{N}_0$ , we have

$$LHB_n^{[\alpha,m-1]}(x,w,u)LHB_s^{[\alpha,m-1]}(X,W,U)$$
(1.29)

$$= \sum_{r,k=0}^{n,s} \binom{n}{r} \binom{s}{k} H_r(w-y,u-z) H_k(W-Y,U-Z) L H B_{n-r}^{[\alpha,m-1]}(x,y,z) L H B_{s-k}^{[\alpha,m-1]}(X,Y,Z).$$

*Proof.* Consider the product of two Laguerre-based Hermite-Bernoulli polynomials (1.11) in the following form:

$$\left(\frac{t^{m}}{e^{t} - \sum_{h=0}^{m-1} \frac{t^{h}}{h!}}\right)^{\alpha} \exp(yt + zt^{2}) J_{0}(2\sqrt{xt}) \left(\frac{T^{m}}{e^{T} - \sum_{h=0}^{m-1} \frac{T^{h}}{h!}}\right)^{\alpha} \exp(YT + ZT^{2}) J_{0}(2\sqrt{XT})$$

$$= \left(\sum_{n=0}^{\infty} LHB_{n}^{[\alpha, m-1]}(x, y, z) \frac{t^{n}}{n!}\right) \left(\sum_{s=0}^{\infty} LHB_{s}^{[\alpha, m-1]}(X, Y, Z) \frac{T^{s}}{s!}\right). \tag{1.30}$$

Replacing y by w, z by u, Y by W and Z by U in (1.30), we find

$$\begin{split} &\sum_{n=0}^{\infty}\sum_{s=0}^{\infty}LHB_{n}^{[\alpha,m-1]}(x,w,u)LHB_{s}^{[\alpha,m-1]}(X,W,U)\frac{t^{n}}{n!}\frac{T^{s}}{s!}\\ &=&\exp((w-y)t+(u-z)t^{2})\exp((W-Y)T+(U-Z)T^{2})\\ &\times\sum_{n=0}^{\infty}\sum_{s=0}^{\infty}LHB_{n}^{[\alpha,m-1]}(x,y,z)LHB_{s}^{[\alpha,m-1]}(X,Y,Z)\frac{t^{n}}{n!}\frac{T^{s}}{s!}, \end{split}$$

which on using the generating function (1.26) in the exponential on the RHS, it becomes

$$\begin{split} &\sum_{n=0}^{\infty}\sum_{s=0}^{\infty}LHB_{n}^{[\alpha,m-1]}(x,w,u)LHB_{s}^{[\alpha,m-1]}(X,W,U)\frac{t^{n}}{n!}\frac{T^{s}}{s!}\\ &=&\sum_{n,r=0}^{\infty}\sum_{s,k=0}^{\infty}H_{r}(w-y,u-z)LHB_{n}^{[\alpha,m-1]}(x,y,z)\frac{t^{n+r}}{n!r!}H_{k}(W-Y,U-Z)LHB_{s}^{[\alpha,m-1]}(X,Y,Z)\frac{T^{s+k}}{s!k!}. \end{split}$$

Finally, replacing n by n-r and s by s-k, and matching the coefficients of like powers of  $t^n$  and  $T^s$ , our assertion follows.

Changing u to z and U to Z in Eq. (1.29), we have the following corollary.

#### Corollary 3.4. We have

$$LHB_{n}^{[\alpha,m-1]}(x,w,z)LHB_{s}^{[\alpha,m-1]}(X,W,Z) = \sum_{r,k=0}^{n,s} \binom{n}{r} \binom{s}{k} (w-y)^{r} LHB_{n-r}^{[\alpha,m-1]}(x,y,z) \times (W-Y)^{k} LHB_{s-k}^{[\alpha,m-1]}(X,Y,Z).$$
(1.31)

Now also, we have the following summation formula for  $LHB_n^{[\alpha,m-1]}(z,w,y)$ .

**Theorem 3.5.** For, we have

$$LHB_{k+l}^{[\alpha,m-1]}(z,w,y) = \sum_{n,\nu=0}^{k,l} \binom{k}{n} \binom{l}{p}_{H} B_{l+k-n-p}^{[\alpha,m-1]}(x,y)_{q} L_{n+r}(w,z-x).$$

*Proof.* The following identity is derived in [14]

$${}_{H}B_{k+l}^{[\alpha,m-1]}(z,y) = \sum_{n,p=0}^{k,l} \binom{k}{n} \binom{l}{p} (z-x)^{n+p} {}_{H}B_{l+k-n-p}^{[\alpha,m-1]}(x,y). \tag{1.32}$$

Based on this identity, and applying  $\exp\left(D_w^{-1}\frac{\delta^q}{\delta z^q}\right)$  to both sides of Eq.(1.32), we have

$$\exp\left(D_w^{-1} \frac{\delta^q}{\delta z^q}\right)_H B_{k+l}^{[\alpha,m-1]}(z,y)$$

$$= \sum_{n,p=0}^{k,l} \binom{k}{n} \binom{l}{p}_H B_{l+k-n-p}^{[\alpha,m-1]}(x,y) \exp\left(D_w^{-1} \frac{\delta^q}{\delta z^q}\right) (z-x)^{n+p}.$$

$$(1.33)$$

Using the operational definitions (see [8]) in the LHS and RHS of Eq.(1.33) completes the proof.

# 4 Generating functions for the Laguerre-based Hermite-Bernoulli polynomials involving bilateral series

Set

$$V^{(\alpha,m)}(x,y,z,w;s,t) = \left(\frac{t^m}{e^t - \sum_{h=0}^{m-1} \frac{t^h}{h!}}\right)^{\alpha} e^{s - \frac{wt}{s} + yt + zt^2} J_0(2\sqrt{xt}).$$
(1.34)

Expanding  $\exp(s-\frac{wt}{s})$  in the series form, and then by using (1.11), we get

$$V^{(\alpha,m)} = \sum_{M=0}^{\infty} \frac{s^M}{M!} \sum_{K=0}^{\infty} \left(\frac{-wt}{s}\right)^K \frac{1}{K!} \sum_{N=0}^{\infty} LHB_N^{[\alpha,m-1]}(x,y,z) \frac{t^N}{N!}.$$
 (1.35)

Upon replacing the summation indices M and N in (1.35) by K + N = n and M - K = m, respectively, rearranging the summation series gives

$$V^{(\alpha,m)} = \sum_{m=-\infty}^{\infty} \sum_{n=m^*}^{\infty} s^m t^n \sum_{K=0}^{n} \frac{(-w)^K}{K!(m+K)!(n-K)!} LHB_{n-K}^{[\alpha,m-1]}(x,y,z)$$
(1.36)

which can be justified by absolute convergence of the series involved. From here, we have

$$e^{s - \frac{wt}{s} + yt + zt^2} C_0(xt) = \sum_{m = -\infty}^{\infty} \sum_{n = m^*}^{\infty} s^m t^n \sum_{K = 0}^{n} \frac{(-w)^K}{K!(m+K)!(n-K)!} {}_L H_{n-K}(x, y, z).$$
 (1.37)

Now we list some special cases of the result (1.36) as follows.

(i) Setting x = 0, y = 1 and using  $L_n(0, 1) = 1$  reduces to

$$\left(\frac{t^m}{e^t - \sum_{h=0}^{m-1} \frac{t^h}{h!}}\right)^{\alpha} e^{s - \frac{wt}{s} + zt^2}$$

$$= \sum_{m=-\infty}^{\infty} \sum_{n=m^*}^{\infty} s^m t^n \sum_{K=0}^{n} \frac{(-w)^K}{K!(m+K)!(n-K)!} BHL_{n-K}^{[\alpha,m-1]}(0,1,z).$$

(ii) Taking  $s=t=\frac{w}{2}$ ,  $\alpha=x=0$  and y=1 becomes

$$e^{w^2z/4} = \sum_{m=-\infty}^{\infty} \sum_{n=m^*}^{\infty} \left(\frac{w}{2}\right)^{m+n} \sum_{K=0}^{n} \frac{(-w)^K}{K!(m+K)!(n-K)!} LHB_{n-K}^{[\alpha,m-1]}(0,1,z).$$

(iii) Substituting  $s=t=\frac{w}{2}$ , x=1 and  $\alpha=y=0$ ,  $z=\frac{2}{w}$  in (1.21), we get a new representation of Bessel Function  $J_0(2\sqrt{x})$ .

$$J_0(2\sqrt{\frac{2}{w}}) = \sum_{m=-\infty}^{\infty} \sum_{n=m^*}^{\infty} (\frac{w}{2})^{m+n} \sum_{K=0}^{n} \frac{(-w)^K}{K!(m+K)!(n-K)!} LHB_{n-K}^{[\alpha,m-1]}(1,0,\frac{2}{w}).$$

(iv) Choosing m = 1, x = 1 and y = 0, we obtain

$$\left(\frac{t}{e^t - 1}\right)^{\alpha} e^{s - \frac{wt}{s} + zt^2} J_0\left(2\sqrt{t}\right)$$

$$= \sum_{m = -\infty}^{\infty} \sum_{n = m^*}^{\infty} s^m t^n \sum_{K = 0}^{n} \frac{(-w)^K}{K!(m + K)!(n - K)!} LHB_{n - K}^{[\alpha, 0]}(1, 0, z).$$

(v) Letting  $\alpha = m = 1$  and y = 0, we see

$$\left(\frac{t}{e^t - 1}\right) e^{s - \frac{wt}{s} + zt^2} J_0\left(2\sqrt{xt}\right)$$

$$= \sum_{m = -\infty}^{\infty} \sum_{n = m^*}^{\infty} s^m t^n \sum_{K = 0}^{n} \frac{(-w)^K}{K!(m + K)!(n - K)!} LHB_{n - K}(1, 0, z).$$

## 5 Concluding Remarks

In the paper, we have established the generating functions for the Laguerre-based Hermite-Bernoulli polynomials involving  $0^{th}$  order Bessel function and the generating function of Laguerre polynomials. The equivalent forms of these generating functions can be derived by using Equations (1.6) and (1.9). We have also used the concepts and the formalism associated with Laguerre polynomials in order to derive the Laguerre-based Hermite-Bernoulli polynomials and established their properties.

#### References

- [1] Andrews, L.C, Special functions for engineers and mathematicians, Macmillan. Co., New York, 1985.
- [2] Bell, E.T, Exponential polynomials, Ann. Math., 35 (1934), 258-277.
- [3] Comtet, L, Advanced combinatorics: The art of finite and infinite expansions, (Translated from french by J.W. Nienhuys), *Reidel*, Dordrecht, **1974**.
- [4] Dattoli, G, Srivastava, H.M., Cesarano, C., The Laguerre and Legendre polynomials from an operational point of view, *Appl. Math. Comput.* 124 (2001), 117-127.
- [5] Exton, H, A new generating function for the associated Laguerre polynomials and resulting expansions, *Jnanabha*, 13 (1983), 147-149.
- [6] Erdelyi, A, Magnus, W, Oberhettinger, F and Tricomi, F, *Higher transcendental functions*, Vols.1-3, New York: McGraw-Hill **1953**.
- [7] Khan, S, Al-Saa, M.W and Khan, R, Laguerre-based Appell polynomials: properties and application, *Math. Comput. Model.*, 52 (2010), 247-259.
- [8] Khan, S, Gonah, A.A, Certain results for the Laguerre-Gould Hopper polynimals, *Appl. Appl. Math.*, 9 (2) (**2014**), 449-466.
- [9] Kurt, B, A further generalization of Bernoulli polynomials and on the 2D -Bernoulli polynomials  $B_n^2(x,y)$ , Appl. Math. Sci., 4 (2010), 2315-2322.
- [10] Natalini, Pierpaolo and Bernardini, Angela, A generalization of the Bernoulli polynomials, *J. Appl. Math.*, 3 (2003), 155-163.
- [11] Pathan, M.A, Generating functions of the Laguerre-Bernoulli polynomials involving bilateral Series, *South East Asian J. Math. Math. Sci.*, 3 (1) (2004), 33-38.
- [12] Pathan, M.A, A new class of generalized Hermite-Bernoulli polynomials, *Georgian Math. J.*, 19 (2012), 559-573.
- [13] Pathan, M.A and Yasmeen, On partly bilateral and partly unilateral generating functions, *J. Austral. Math. Soc. Ser. B*, 28 (1986), 240-245.

- [14] Pathan, M.A and Khan, W.A, Some implicit summation formulas and symmetric identities for the generalized Hermite-Bernoulli polynomials, *Mediterr. J. Math.*, 12 (2015), 679-695.
- [15] Srivastava, H.M and Manocha, H.L, *A treatise on generating functions*, Ellis Horwood Limited. Co. New York, **1984**.
- [16] Srivastava, H.M, Pathan, M.A and Bin Saad, M.G, A certain class of generating functions involving bilateral series, *ANZIAM J.*, 44 (2003), 475-483.
- [17] Srivastava, H.M., Özarslan, M.A., Yilmaz, B., Some Families of Differential Equations Associated with the Hermite-Based Appell Polynomials and Other Classes of Hermite-Based Polynomials, *Filomat* 28:4 (2014), 695-708.
- [18] Srivastava, H.M., Özarslan, M. A., Kaanoğlu, C., Some generalized Lagrange-based Apostol-Bernoulli, Apostol-Euler and Apostol-Genocchi polynomials, *Russian J. Math. Phys.* 20 (2013), 110-120.